Dati i seguenti o € R, d >0, A C R, determinare 'insieme (Jzg — 0,29 + 0[\{zo}) N A

$0—2,
.7,‘0—3,
560—5,
230—6,
$0—4,
.CCo—S,
560—1,
LEO—7,
[Eo—g,
.7}0—2,
ZC()—?),
IEO—5,
[Eo—ﬁ,
x0—4,
.IQ—S,
$0—1,
[Eo—?,
x0—9,
IQ—Z,
$0—3,
[IJ()—5,
.%'0—6,

§=3,
§=2,
§=4,
§=3,
§=2,
§=2,
§=4,
§=3,
5=6,
§=4,
§=5,
§=2,
§=5,
§=3,
§=4,
§=3,
5=2,
§=4,
§=5,
§=4,
5=3,
§=4,
§=4,

A=[-30]
A=1(2,3]
A=[4,7]
A = [6,10]
A =15,17]
A =3, 6]
A=[-31]
A =4, 8]
A =]5,16]
A =[3,6]
A=189
A =]1,4]
A=1[1,6]
A=10,8]
A =18,9]
A=[2,5]
A =19,10]
A=[4,5]
A =]0,2|
A=]—1,7]
A=1[6,9]
A =]9,10]
A =]9,10]



